
June 25.*
,
2021

WRAP UP

in
C

R



PLAN : - 6:05 - 2:30 {
- i Review 2 problem,

10 volunteers←'____.WRAPupn
730 - 745 - 3 videos

745 - 8 - Feedback torn

g- { Purvi , Anita , Siva 1 Next steps

② an = n' + 5nF 15 bn =2^ #
Guess : - An = ocbn)
- n

an = n
>
+ 55+15 7- 1+5+15=21 For-31

bn = 2
"

32 +a> 1

Lower bound
-

• ± ¥n

let Ezo be given

objective :- To find V71 st .

¥ < e + n=N

¥ = ñ+:s



Ideas : -
iz?g?Éin, fast

-

-

zn → is-15^415 . . . ( the?
.

[ Induction !]

na [Inductively]

Some2h = ( 1+15 = É ng, z
cn4

for

sh : -

1<=0
CZO

f- n74

an ± his + sit 15
= t[ In + Ine -1¥, ]In cn4

t
Yesterday's sobtodo 2

7 Nzl St.

III. +E. + ÷ ] < e

-
.

-
- - finish the proof like yesterday

- . - an I ocbn )

Proof of show : -

2
"
= É new

1<=0

•
= Nco + no , the, the, -1^4 1-

"

Rest
"

7 0 then + 0

= ncntL¥_u

= n4 ( 1- f.) (1-3) 4-3)I,

i. 1 1 11



: : : i. It v1 v11 v1
✓

4 nh 31g Ye Yq £4

=
C n
" where c= ⇐ . E. § . Ig


